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Q) What is J.tan_1 secx +tanx)dx equal to?
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Q) What is J.tan_1 (secx +tanx)dx equal to?

2 2
X X X X
+—+c +—+c
@ 4+ ®) =+
(C) 11',X+TCX2+C (d) TCX_X2+C
4 4 4 4

Ans: (a)
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Q) Students of three sections of a class, having 30, 30 and 40
students appeared for a test of 100 marks. The arithmetic
means of the marks of the three sections are 72.2, 69.0 and
64.1 in that order. What is the arithmetic mean of the marks

of all the students of the three sections?
(@) 66.6 (b) 673
(c) 680 (d) 706

- (3”%?'2)7“(30%67«0)+(4o)ré9o/) -

30 +30 + #p [00
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Q) Students of three sections of a class, having 30, 30 and 40
students appeared for a test of 100 marks. The arithmetic
means of the marks of the three sections are 72.2, 69.0 and
64.1 in that order. What is the arithmetic mean of the marks

of all the students of the three sections?
(@) 66.6 (b) 673
(c) 680 (d) 706

Ans: (c)
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Q) The mean of 10 observations 1s 5. If 2 is added to each
observation and then multiplied by 3, then what will be the
new mean ?

@ 5 (b) 7
) 15 d) 21

Change tharvefsns = Jome C/Mﬂje fn mean

(5+°?)X3 = A3 :
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Q) The mean of 10 observations 1s 5. If 2 is added to each
observation and then multiplied by 3, then what will be the
new mean ?

@@ 3 (b) 7
) 15 (d) 21

Ans: (d)



NDA 2 2024 - REVISION - MATHS - CLASS 14

Q) Variance is always independent of the change of
(@) origin but not scale

(b) scale only
(¢) both origin and scale

(d) None of the above
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Q) Variance is always independent of the change of
(@) origin but not scale
(b) scale only
(¢) both origin and scale
(d) None of the above

lem\nafc I DYY&QF?? C/mnafq I Sfe
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Ans: (a)
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Q) Iftwo regression lines between height (x) and weight (y)
are 4y —15x+410=0and 30x -2y —825 =0, then what
will be the correlation coefficient between height and

weight?
1 1 2 3
@3 ® 5 ©3F @ 3
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Q) Iftwo regression lines between height (x) and weight (y)
are 4y —15x+410=0and 30x -2y —825 =0, then what
will be the correlation coefficient between height and
weight?

1

1 2
@ 5 0 3

| 3
5 (©) (d) 2

Ans: (b)
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Q) The variance of 20 observations is 5. If each observation is
multiplied by 2, then what is the new variance of the resulting
observations ?7
@ 5 (b) 10
© 20 (d) 40

5% ()" = 514 = ()
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Q) The variance of 20 observations is 5. If each observation is
multiplied by 2, then what is the new variance of the resulting
observations ?7
@ 5 (b) 10
© 20 (d) 40

Ans: (c)



NDA 2 2024 - REVISION - MATHS - CLASS 14

Q)What 1s the arithmetic mean of the series

» 2
(a) (b) oD
5 (n+1) »@+)

d
(©) - (d) D)
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Q)What 1s the arithmetic mean of the series

» o
(a) - (b) oD
5 (n+1) »@+)

d
(©) - (d) D)

Ans: (b)
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Q)In a test in Mathematics, 20% of the students obtained
“first class”. If the data are represented by a pie chart,

what is the central angle corresponding to “first class™?

(3) 20° (b) 36° (©) 72° () 144°
A0 x 96’ = %AZ&OO = 7

/00
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Q)In a test in Mathematics, 20% of the students obtained
“first class”. If the data are represented by a pie chart,

what is the central angle corresponding to “first class™?
(a) 20° (b) 36° (c) 72° (d) 144°

Ans: (c)
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Q)In which one of the following cases would you expect to
get a negative correlation?

(a) The ages of husbands and wifes

(b) Shoe size and intelligence

(¢) Insurance companies profits and the number of claims they have
to pay

(d) Amount of rainfall and yield of crop

(nedaffﬂ deﬁm}
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Q)In which one of the following cases would you expect to
get a negative correlation?
(a) The ages of husbands and wifes

(b) Shoe size and intelligence

(¢) Insurance companies profits and the number of claims they have
to pay
(d) Amount of rainfall and yield of crop

Ans: (c)
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Q)The mean and standard deviation of a set of values are 5
and 2 respectively. If 5 is added to each value, then what is
the coefficient of variation for the new set of values?

(@) 10 (b) 20 (c) 40 (d) 70

New tean = 5+5 = /0

New SDo = 2

Wﬁ[‘ Df wre = 22 (r)ﬁ X109 = <A X100 .—.

Meay (0
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Q)The mean and standard deviation of a set of values are 5
and 2 respectively. If 5 is added to each value, then what is
the coefficient of variation for the new set of values?

(@) 10 (b) 20 (c) 40 (d) 70

Ans: (b)
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Q)If two wvariables X and Y are
independent, then what is the
correlation coefficient between them?
(a) 1 (b) -

(c) 0 (d) None of these
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Q)If two wvariables X and Y are
independent, then what is the
correlation coefficient between them?

()1 (b)
(c) 0 (d) None of these

__, W,ﬁ[mwf f&orrepojlm/

coyre/ aﬁm

(")
Ans: (c) CPY(}?WHQ})
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Q)The variance of 25 observations is 4. If 2 is added to each
observation, then the new variance of the resulting
observations is

(a) 2 (0) 4 (C) 6 (d) 8
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Q)The variance of 25 observations is 4. If 2 is added to each
observation, then the new variance of the resulting
observations is

(a) 2 (0) 4 (C) 6 (d) 8

Ans: (b)
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Q)Which one of the following can be obtained from an
ogive?
(@) Mean (b) Median
(c) Geometric Mean (d) Mode
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Q)Which one of the following can be obtained from an

ogive?
(@) Mean (b) Median
(c) Geometric Mean (d) Mode

Ans: (b)
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Q)The median of the observations 22,
24,33,37, x +1, x + 3,46,47,57,58 in
ascending order is 42. What are the
values of 5th and 6th observations
respectively?

(a) 42, 45 (b) 41, 43
(c) 43, 46 (d) 40, 40



NDA 2 2024 - REVISION - MATHS - CLASS 14

Q)The median of the observations 22,
24,33,37, x +1, x + 3,46,47,57,58 in
ascending order is 42. What are the
values of 5th and 6th observations

respectively?
(a) 42, 45 (b) 41, 43
(c) 43, 46 (d) 40, 40

Ans: (b)
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Q) The marks scored by two students A and B 1n six subjects

are given below:
A 71 56 45 89 A 4
B 55 74 83 54 38 52

Which one of the following statements 1s correct ?

(a) The average scores of A and B are same but A 1s
consistent

(b) The average scores of A and B are not same but A 1s
consistent

(¢) The average scores of A and B are same but B 1s
consistent

(d) The average scores of A and B are not same but B 15s
consistent
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Q) The marks scored by two students A and B 1n six subjects

are given below:
A 71 56 45 89 A 4
B 55 74 83 54 38 52

Which one of the following statements 1s correct ?

(a) The average scores of A and B are same but A 1s
consistent

(b) The average scores of A and B are not same but A 1s
consistent

(¢) The average scores of A and B are same but B 1s
consistent

(d) The average scores of A and B are not same but B 15s
consistent

Ans: (d)
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Q) If the slopes of the line of regression of Y and X and of X
and Y are 30° and 60° respectively, thenr(X, Y)1s:

@ -1 ®) 1
1

1
© 5 @ ~5
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Q) If the slopes of the line of regression of Y and X and of X
and Y are 30° and 60° respectively, thenr(X, Y)1s:

@ -1 ®) 1
1

|
(©) NG (d) NG

Ans: (c)
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Q)If the regression coefficient of Y on X is —6 and the

. . ) 1
correlation coefficient between X and Y is ——, then the

2
regression coefficient of X onY would be

1 1 1
@) = (o) (€) — - (d)

_1 1
24 6 6
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Q)If the regression coefficient of Y on X is —6 and the

. . ) 1
correlation coefficient between X and Y is ——, then the

2
regression coefficient of X onY would be

@ (b) — - ) -1 (@)

1
24 24 6 6

Ans: (b)
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Q)In computing a measure of the central tendency for any set
of 51 numbers, which one of the following measures 1s well-
defined but uses only very few of the numbers of the set?
(a) Arnthmetic mean (b) Geometric mean

(c) Median (d) Mode
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Q)In computing a measure of the central tendency for any set
of 51 numbers, which one of the following measures 1s well-
defined but uses only very few of the numbers of the set?
(a) Arnthmetic mean (b) Geometric mean

(c) Median (d) Mode

Ans: (d)
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Q) The data below record the itemwise quarterly expenditure
of a private organization :

Item of expenditure Amount (in lakh rupees)
1. Salaries 6.0
2. TA&DA 49
3. House rent and postage 3.6
4. All other expenses 5.5
Total : 20.0

The data 1s represented by a pie diagram. What 1s the
sectorial angle of the sector with largest area?

(@) 120° (b) 108°

(c) 100° (d) 90°
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Q) The data below record the itemwise quarterly expenditure
of a private organization :

Item of expenditure Amount (in lakh rupees)
1. Salaries 6.0
2. TA&DA 49
3. House rent and postage 3.6
4. All other expenses 5.5
Total : 20.0

The data 1s represented by a pie diagram. What 1s the
sectorial angle of the sector with largest area?

(@) 120° (b) 108°

(c) 100° (d) 90°

Ans: (b)
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Q)Consider the two series of observations A and B as follows:

Series A [ 1019

1008

1015

1006

1002

SeriesB | 1.9

0.8

1.5

0.6

0.2

Ifthe standard deviation of the Series A is 38, then what
1s the standard deviation of the Series B?

(b) /038

@) 38
(©) 038

(d)

J38
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Q)Consider the two series of observations A and B as follows:

Series A | 1019 [ 1008 | 1015 | 1006 | 1002
SeriesB (1.9 |08 |15 (0.6 |0.2

Ifthe standard deviation of the Series A is 38, then what
1s the standard deviation of the Series B?

(@) 3.8 b) 038
(c) 038 @ /38

Ans: (b)
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Q)If sin 3 is the harmonic mean of sin ot and cos ¢t and sin 0 is

the arithmetic mean of sin & and cos o, then which of the

following is/are correct?
7T
1. V2 sin OL+Z sinf} = sin 20
/

;
2.\/§sin9=cos a—gj
\

Select the correct answer using the code given below.
(a) 1only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2
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Q)If sin 3 is the harmonic mean of sin ot and cos ¢t and sin 0 is

the arithmetic mean of sin & and cos o, then which of the

following is/are correct?
7T
1. V2 sin OL+Z sinf} = sin 20
/

;
z.ﬁsin0=cos oc—g)
\

Select the correct answer using the code given below.
(a) 1only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

Ans: (c)
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Q) There is 25% chance that it rains on any partlcular day.
What is the probability that there is at least one rainy day

within a period of 7 days? P(aﬁ()ﬁ\ﬂ}' mmf 0{0‘0‘ ;h 9'01‘*({9)
o @ tl Il T

7 7 ~ L\,_/~/‘W
(c) [%] (d) 1_(%] ( Ny mni 7}7 C‘ﬁ@)

Oﬁ” s
P(win )d‘ﬁ) = L (%)%(
d

Y

P(mfminm ldaaz)of__fzf.:% %)Dr
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Q) There is 25% chance that it rains on any particular day.
What is the probability that there is at least one rainy day
within a period of 7 days?

o e
o ey

Ans: (d)
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Q) A salesman has a 70% chance to sell a product to any
customer. The behaviour of successive customers 1s
independent. If two customers A and B enter, what 1s the
probability that the salesman will sell the product to
customer A or B?

(a) 098 (b) 091
(¢) 0.70 (d) 049

phus) = P(4) + p(8) — P(a0s P(40 8) cﬁfﬁ)ﬂgj

(e In c!ejbendenf wen@)
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Q) A salesman has a 70% chance to sell a product to any
customer. The behaviour of successive customers 1s
independent. If two customers A and B enter, what 1s the
probability that the salesman will sell the product to
customer A or B?

(a) 098 (b) 091
(¢) 0.70 (d) 049

Ans: (b)
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AC B
Q)For two dependent events A and B, it 1s given that _’

P(A) = 0.2 and P(B) = 0.5. If A B, then the values of 3 AnB = A
conditional probabilites P(A|B) and P(B|A) are respectively _—
(a) %% P(A/B) - P(AOB) = P[A) . _Q__g_ - 2

2 W ) TP
b) =1 [

5 p B/A) = P(pne)

= PA =

13 o7 Pt

© L3 ) Pln)

(d) Information is insufficient
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Q)For two dependent events A and B, it 1s given that
P(A) = 0.2 and P(B) = 0.5. If A < B, then the values of
conditional probabilites P(A|B) and P(B|A) are respectively

23
@ 3

2
® 31
© Lz

(d) Information is insufficient

Ans: (b)
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Q) The mean and standard deviation of a binomial distribution
are 12 and 2 respectively. What is the number of trials?

(@) 2 (b) 12
(c) 18 (d) 24

) 0 C e e np = /"? -
Biosmial  dishi buffep g P 2 0
W
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Q) The mean and standard deviation of a binomial distribution
are 12 and 2 respectively. What is the number of trials?

@ 2 ®) 12
© 18 d) 24

Ans: (c)
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Q) There are n socks 1n a drawer, of which 3 socks are red. If 2
of the socks are chosen randomly and the probability that

both selected socks arered 1s > then what 1s the value ofn?

(a) 3
(¢) 5

(b) 4
(d) 6

-

Lf:) gxX3 =
4
6= (

1)

%C&

4
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Q) There are n socks 1n a drawer, of which 3 socks are red. If 2
of the socks are chosen randomly and the probability that

both selected socks arered 1s > then what 1s the value ofn?

@ 3 (b) 4
© 5 (d) 6

Ans: (b)
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Q)In a class of 125 students 70 passed in Mathematics, 55

passed m Statistics and 30 passed in both. What 1s the
probability that a student selected at random from the class

has passed in only one subject?
(a) 1325 (b) 3/25 (c) 17225 (d) 8725
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Q)In a class of 125 students 70 passed in Mathematics, 55

passed m Statistics and 30 passed in both. What 1s the
probability that a student selected at random from the class

has passed in only one subject?
(a) 1325 (b) 3/25 (c) 17225 (d) 8725

Ans: (a)
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Q)What is the probability that an
interior point in a circle is closer to
the centre than to  the
circumference?

1 1
a) — b) —
(a) 5 (0) =

(d) It cannot be determined
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Q)What is the probability that an
interior point in a circle is closer to
the centre than to  the

circumference?

1 1
(@) y (D) =

(C) 7

(d) It cannot be determined

Ans: (a)
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Q) What is the probability that the
roots of the equation x* + x +n =0

are real, wheren € N and n < 4?

(@) 0 (b) 1

4
(c) (d)

1 1
3 2
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Q) What is the probability that the
roots of the equation x* + x +n =0

are real, wheren € N and n < 4?
@0 (b) —

4
(c) (d)

1 1
3 2

Ans: (a)
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Q)Let A, Band C be three mutually exclusive and exhaustive

events associated with a random experiment. If
P(B)=15 P(A) and P(C) =05 P(B), then P(A)is equal to

3 4 2 1
(a) 2 (b) - (©) 3 (d) >
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Q)Let A, Band C be three mutually exclusive and exhaustive

events associated with a random experiment. If
P(B)=15 P(A) and P(C) =05 P(B), then P(A)is equal to
3 4 2 1

(a) 2 (b) - (©) 3 (d) >

Ans: (b)
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Q) Two independent events A and B are

such  that P(AUB)=§ and

P(A  B) =%. If P(B)< P(A), then

what is P(B) equal to ?
1 1

(@) 2 (b) 3
(C)

1 1
> 3
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Q) Two independent events A and B are

such that P(A v B) =§ and

P(A  B) =%. If P(B)< P(A), then

what is P(B) equal to ?

1 1
(@) 2 (b) 3
(C)

1 1
> 3

Ans: (b)
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Q)Two symmetric dice flipped with
each dice having two sides painted
red, two painted black, one painted
yellow and the other painted
white. What is the probability that
both land on the same colour ?

3 2
(a) 8 (b) 5
5 1
(C) 8 (d) 3
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Q)Two symmetric dice flipped with
each dice having two sides painted
red, two painted black, one painted
yellow and the other painted
white. What is the probability that
both land on the same colour ?

3 2
(a) 8 (b) 5
5 1
(C) 8 (d) 3

Ans: (c)
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Q)A fair coin is tossed four times. What is the probability that
at most three tails occur ?
@ 79 (b) 15/16
(c) 13/16 (d) 34
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Q)A fair coin is tossed four times. What is the probability that

at most three tails occur ?
@ 79 (b) 15/16
(¢c) 13/16 (d) 34

Ans: (b)
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Q) A coin is tossed twice. If E and F

denote occurrence of head on first
toss and second toss respectively,

then what is P(E U F) equal to?
1
(D)

(d)
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Q) A coin is tossed twice. If E and F

denote occurrence of head on first
toss and second toss respectively,
then what is P(E U F) equal to?

L (b)

(d)

Ans: (c)
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Q) An experiment consists of flipping a coin and then flipping
it a second time if head occurs. If a tail occurs on the first
flip, then a six-faced die 1s tossed once. Assuming that the

outcomes are equally likely, what is the probability of getting
one head and one tail?

(@ 14 b) 1/36
©) 1/6 @ 1/8
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Q) An experiment consists of flipping a coin and then flipping
it a second time if head occurs. If a tail occurs on the first
flip, then a six-faced die 1s tossed once. Assuming that the

outcomes are equally likely, what is the probability of getting
one head and one tail?

(@ 14 b) 1/36
©) 1/6 @ 1/8

Ans: (d)
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Q)Consider the following statements :
If A and B are independent events, then

. Aand B are independent.

2. A andBare independent.

3. A and B are independent.
Which of the above statements 1s/are correct?

(a) 3 only (b) land2 only
(¢) 1,2and3 (d) None of these
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Q)Consider the following statements :
If A and B are independent events, then

. Aand B are independent.

2. A andBare independent.

3. A and B are independent.
Which of the above statements 1s/are correct?

(a) 3 only (b) land2 only
(¢) 1,2and3 (d) None of these

Ans: (c)
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Q) Consider the following statements :

1. If 4 and B are exhaustive events, then thenr union 1s the
sample space.
2 It 4 and B are exhaustive events, then their intersection

must be an empty event.
Which of the above statements 1s/are correct ?

(a) 1only (b) 2only
(c) Bothland?2 (d) Neither 1 nor?2
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Q) Consider the following statements :

1. If 4 and B are exhaustive events, then thenr union 1s the
sample space.

2. It 4 and B are exhaustive events, then their intersection
must be an empty event.

Which of the above statements 1s/are correct ?

(a) 1only (b) 2only
(c) Bothland?2 (d) Neither 1 nor?2

Ans: (b)
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Q)Two dice are thrown
simultaneously. @ What is the
probability that the sum of the
numbers appearing on them is a
prime number?

@) >

12
© -

12
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Q)Two dice are thrown
simultaneously. =~ What is the
probability that the sum of the
numbers appearing on them is a
prime number?

@) >

12
© -

12

Ans: (a)



NDA 2 2024 - REVISION - MATHS - CLASS 14

Q) The probability that atleast one of the events A and B
occurs 1s 3/5. If A and B occur simultaneously with
probability 1/5, then P(A")+ P(B’)1s

2 4
a — —
(a) : (b) -
6 7

©) g (d) g
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Q) The probability that atleast one of the events A and B
occurs 1s 3/5. If A and B occur simultaneously with
probability 1/5, then P(A") + P(B')1s

2 4
(a) 65 (b) é
©) g (d) g

Ans: (c)
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Q) If three natural numbers from 1 to 100 are selected
randomly, then probability that all are divisible by
both 2 and 3, 1s

4 4
(a) ? (b) 3—3;
(c) g (d) E
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Q) If three natural numbers from 1 to 100 are selected
randomly, then probability that all are divisible by
both 2 and 3, 1s

4 4
(a) ? (b) 3—3;
(c) % (d) E

Ans: (d)



:SSBCrack :SSBCrack

_=MAHA MARATHON=__ _=MAHA MARATHON=__

28 - 31 AUG 2024 28 - 31 AUG 2024

10AM TO 12PM 1PMTO 3PM
PHYSICS & MATHS - NAVJYOTISIR PHYSICS & MATHS - NAVJYOTI SIR

12PM TO 1PM 3PMTO 4PM

6S - SHIVANGI MAAM GS - SHIVANGI MA'AM
1PMTO 2PM 4PM TO 5PM

6K - RUBY MA'AM 6K - DIVYANSHU SIR

2PMTO 3PM SPM TO 6PM
ENGLISH - ANURADHA MAAM ENGLISH - ANURADHA MA'AM

Trrva
— b —
L) CALL US: 080-69185400 P> Googeproy || DOWNLOAD ! L) CALL US: 080-69185400 D> Googleriay | | ZOWNLOAD !

i

|
!
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